Monde Hal  Problew~

You're on a game show and presented three curtains. Behind these
curtains there are two goats and one BRAND NEW CAR! You get whatever
is behind the curtain you choose. Which curtain do you choose?

A 8 ¢

Now, before the game show host reveals your prize, he reveals another
curtain with a goat behind it.

A 8 ¢

Then he asks you if you'd like to switch your choice...?
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pCfW\U\\-o\ *\'OV\ Ovder Does Marter

“The combination to the safe is 472.
Now we do care about the order. 742" won't work, nor will “247" 1t has

to be exactly “472"

SWould  be called o
Pocwulasro~  foc
intreadd & &
(ombivatvon  foel

b\)\t\\ p-fPe H"'(OV\ Peruukations  can  vepeat

ex] Tn te fock aove Hheve ae 4 puwbes o o from
w we ¢hore 3 o6 e

g g g = qg = 739 permutateons

h‘ NS 4le # & (-htujs o (hoose  Svom
ond we Choe K of  fhem

_(')Ill 1'31 o
Ve

Q(_J Fow MY 9 o\lﬁﬂ whole  NWhWperS cyis«\-?

G-10-10 -10 - 10 = 40000

Ay
Cand Shavt  witw
2evo




N \ t\ha UA Q-Qp € 3""\'( oW peruutations  camwot  ve peat

&%) What  order could 1o pool lalls be n?

We ae unadle to vtepmt  auy pol belt
staee  we oy hat  me ::? eacln

lo - (S -4 -13 -1 -1 -10-4-&-3 - 6-5-M-3-2 -1 I\ Teilltow

What i§  we  jut weer t0 Cee 3 pool ballg?

b - 15 -4 = 3360 pevuatattond

In other words, there are 3,360 different ways that 3 pool balls could be
arranged out of 16 balls. Without repetition our choices get reduced each
time.
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CO\M‘O\‘V\AHOV\ Ovder Does NOT Marber

"My fruit salad is a combination of apples, bananas, and grapes.”
We don't care what order the fruits are in, they could also be

“bananas, grapes, and apples” or “grapes, apples, bananas” and it will
still be the same fruit salad.
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Going back to our pool ball example. We have 16 balls and we will
choose 3, but this time order doesnt matter
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Find the number of ways in which ten different books can be given to
Ethan, Henry, Joshua, and Lucy if Ethan is to receive 4 books, Henry is to

receive 3 books, Joshua is to receive 2 books and Lucy is to receive 1
book.
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A school basketball team of 5 students is selected from 8 boys and 4
girls.
(a) Determine how many possible teams can be chosen

()

(b) Determine how many teams can be formed consisting of 3 boys and
2 girls.
8(3)
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(c) Determine how many teams can be formed consisting of at most 3

' (%) (D)



